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6th October Mathematics Mega Quiz (Questions)

Q1. A merchant has 1000 kg sugar, part of which he sells at 8% profit and the rest at 18% profit.
He gains 14% on the whole. The quantity sold at 8% profit is:

T T F 919 1000fF.37 =T §, et T 90T 98 8% AT 9 99T § 3 AT 18% FTH 94X I9aT 8. SU
IR ZEATALIT TT 14% FATH ITH AT & 8% T AT T HIAT it WTAT AT hifor:

(a) 600 kg

(b) 640 kg

(c) 400 kg

(d) 560 kg

Q2. A trader sells two bullocks for Rs. 8,400 each, neither losing nor gaining in total. If he sold one
of the bullocks at a gain of 20%, the other is sold at a loss of

TF AT 8,400% TAF 9T Y 41 T 397 § NS 7 7L 3 7 FE A PaAT § T WS A A & AR AT
TR § FT 20% AT I I=AT g Y 3G T 4 Y fFhaer griv a< 3= grn?

(a) 20%

(b) 18-%

(c) 142%

(d) 21%

Q3. If a chair sold for Rs. 600 at the profit of 20%, then the original price of the chair is:
AT TF FHT FT 600% I 995 20% AT ITH BIAT &, AT FHI T ATEAASH o 8.

(a) Rs. 540

(b) Rs. 500

(c) Rs. 480

(d) Rs. 580

Q4. The cost price of two dozen bananas is Rs. 32 After selling 18 bananas at the rate of Rs. 12 per
dozen, the shopkeeper reduced to rate as Rs. 4 per dozen. The TSN
percent loss is Bilingual g

QT IO Al HT ATT T 32% 8. 12% I Toi1 94X 18 Fdk 99+ & 1%,
TR T HT FX 4 Y T TSI FX 4T 2. T Tiqera qraq Hford: RRBNTPC
a) 25.2%

) 32490 PREMIUM
(c) 36.5% 100+ TOTAL TESTS

(d) 37.5%
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Q5. A person buys 100 cups at Rs. 10 each. On the way 20 cups are broken. He sells the remaining
cups at Rs. 11 each. His loss percent is.

T#F = 10 7 90 F9 i T T 100 FT GOAT §. T | 20 FT € 1A §. T: AT FT Fl 1159, TAF 5
T | 9947 §. SThT g AT J1d hifora?

(a) 15

(b) 10

(©17;

(d) 12

Q6. 12 copies of a book were sold for Rs. 1800/- there by gaining cost price of 3 copies. The cost
price of a copy is:

12 [T T 1800 FIY F T I 4T 14T &, Prd 3 TEaahl F AR JoF & TG AT TTH 2rav §. TAH
TEqT Y T AT HITora?

(a) Rs. 120/-

(b) Rs. 150/-

(c)Rs.1200/-

(d) Rs. 1500/-

Q7. If a man estimates his loss as 20% of the selling price, then his loss percent is:
7T TF =T T I Sk AFT T T 20% &, T ST JI Tiaera s Hiforar?

(a) 20%

(b) 25%

(5%

() 2%

Q8. By selling 12 kg of potatoes for 63, a shopkeeper gains 5%. What does his gain or lose percent
by selling. 50 kg of the same potatoes for 247.50?

12 FAT S #T 63 TIF § I91 I, Th THAATE Hl 5% FT ATH SATSq gral §. 50 AT S 7 247.50 €
# a9 9T S e amw/gT s gt 2

(a) 1% profit

(b) 1% loss

(c) No profit no loss

(d) 2.5% profit

Q9. By selling 80 ball pens for Rs. 140 a retailer losses 30%. How many ball pens should he sell for
Rs. 104 so as to make a profit of 30%?

I 97 H 140 T § 997 I TF AT 30% it g ST 8. 30% FT ATH AT Heed I 34 104 T
# fhaw St 99 9= g2

(a) 32

(b) 52

(c) 48

(d) 42
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Q10. A bought an article, paying 5% less than the original price. A sold it with 20% profit on the
price he had paid. What percent of profit did A earn on the original price?

A TF T HT STHT AEATAH FHT & 5% FH FT WFIATT Fh GUIAT 3. A S S g AT 367 1¢ g7
" 20% AT 9T AT §. ATEqAa® HrAa 9 A T fraer sfaera st sa gan?

(a) 10

(b) 13

(c) 14

(d) 7

Q11. A can build a wall in 15 days and B can build it in 10 days, while C can completely demolish
the wall in 12 days. If they start working at the same time, in how many days will the work be
completed?

ATF IR A 15 RAATATTFATEACBH 10 RAA TAT THhaT 8, TafF CH 12 RAA W g Tale W
qHAT 5. AT F THTT G0 T HE HEAT LE FL g ¥, F1A (ohae faat J g giemr?

(a)13

(b)12

(c)14

(d)16

Q12. If A can do a work in 10 days and B can do the same work in 15 days, then how many days
will they take to complete the work both while working together?

afs A TF F T 10 AT § i< B ST 1 &1 15 T # 1 FT G9ham g, A S A1 THATT F1 H I FLA |
T awT A

(a)7

(b)8

(c)6

(d)9

Q13. ‘A’ completes a work in 12 days. ‘B’ completes the same work in 15 days. ‘A’ started working
alone and after 3 days B joined him. How many days will they now take together to complete the
remaining work?

‘A’ T F1A & 12 T | 0 FaT §. ‘B’ SHT FE Ar 15 77 § 90 31 8. ‘A’ STt 1 AT [F HLar g o 3
37 972 B SH & [=AT . 99 AT F1F T T FLA & [T I A1 H foha=r a077

T B

(@)9

()8 A COMPREHENSIVE
GUIDE FOR

()6 RRB NTPC STAGE-1& 2

(d)5 kit e

4500+ ;
Q14. Machine A can print one lakh books in 8 hours. Machine B can do [ttty m 4

Mocks 4
the same job in 10 hours. Machine C can do the same job in 12 hours. All @ ek e

Awareness,
Beneral Science Detailed

the three machines start job at 9.00 am. A break down at 11.00 am and § e Expanains 1

for Each & Every
Question

the other two machines finish the job. Approximately at what time will [y

Papers

the job be finished? A

addazvi
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7efie A 8 5 § TF ATE TF ATT Tdl . 7ehe B I &1 Y 10 = & QT F aavat & 7hi=r ¢ St 1 #°7 12
e F QT FT TRAT g Tt T 7efT 9.00 TATET I F FEAT ¥ FAT 8. 11qATeT I A1+ A #r sig < f=qw
SITaT & 3% T <7 AT F g FEdY §. AT T S e g gy

(a) 12.05 noon

(b) 1.30 pm

(c) 1.05 pm

(d) 11.30 am

Q15. 12 men complete a work in 18 days. Six days after they had started working, 4 men joined
them. How many days will all of them take to complete the remaining work?

12 &Y TF F14 & 18 G # g 777 §. F: 9 18 Igiv H1d HEAT L& (44T, 4 29 IT9 2 . AT Fd A
T FEA | I gt F T qug awnm?

(a) 10 days

(b) 12 days

(c) 15 days

(d) 9 days

Q16. 5 men can prepare 150 toys in 5 days working 6 hours a day. In how many hours 10 boys can
prepare 200 toys in 10 days, if a man works thrice as fast as a boy?

5 92,5 i & 6 e F1d F2a g 150 A F97 T §. IR TH 29 TF T2 Y AT R A AT FAR &, AV
10 =% 10 I § farqe e 1 %< g 200 &=t a=7 a6 87

(a)6

(b)7

(c)8

(d)9

Q17. 12 men and 16 boys can do a piece of work in 5 days. 13 men and 24 boys can do the same
work in 4 days. How long will 7 men and 10 boys take to do the same work?

12 I2Y 3 16 I5% T F14 & 5 T § T T TFd 8. 13 T2V 3K 24 T S4T H #1 4 T § F 6 2.
I T T FEA H 7 TE 3T 10 ASHI Tl FohaqaT 0T AIT?

(a)10

(b)20

()30

(d)40

Q18. A and B can do a work in 45 and 40 days respectively. They began the work together, but A
left after some time and B finished the remaining work in 23 days. After how many days did A
leave?

A 3T B T&F %4 &l HHL: 45 AT 40 T T QU FTTHd 8. A THATT F FAT LE A &, A9 5 q9T 12 A
T IS AT g S B AT F #¥ 23 &1 § 1 2 §. A 7 o fa=i e s Sieram?

(a)9

(b)10

(c)11

(d)12
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Q19. Sanjeev can build a wall in 20 days and Parveen can demolish the same wall in 30 days. If
they work on alternate days with Sanjeev starting the job on the 1st day, then in how many days
will the wall be built for the first time?

ot T T & 20 T & T97 gohaT g iR 7= S9 <9 &t 30 A1 7 qais # gt ¢ I} T Fafcas
R o 1 T3 § SR age R Ot i i Q[esd AT €, I gt a1 A e At 7 aw i

(a)115

(b)114

(c)113

(d)119

Q20. A is 30% more efficient than B. How much time will they, working together, take to complete
a job which A along could have done in 23 days?

A, B TAT § 30% T TAT §. T TA1 T T TF FF T F § {haar awT o o #71 #°r A srovet
23 R & QU FTaHar 82

(a) 11 days

(b) 13 days

(c) 20(3/17) days

(d) None of these

Q21. A train 180 m long moving at the speed of 20 m/sec overtakes a man moving at a speed of 10
m/sec in the same direction. The train passes the man in?

180 i Fw=fY 2 20%t /& Fi i7 T Tt g M TwT fRew F 10 #Hr /& Fir i & 97 T waHT - AMaAeH FA &
T st F Fohaer e # R AT AT 82

(a) 6 sec

(b) 9 sec

(c) 18 sec

(d) 27 sec

Q22. The distance between two cities A and B is 330 km. A train starts from A at 8 a.m. and travels
towards B at 60 km/hr. Another train starts from B at 9 a.m. and travels towards A at 75 km/hr. At
what time do they meet?

3T 8T A S B F T it T 330 [t 8. TF 377 A 9 g9g 8 9= L= gt & 3K 60 Bt/ fir ax & B Fit ol
ATAT FIAT 8. 7T &7 B & GIg 9 Io7 L= gl g i< 75 FFft /5 it X & A it i< =7 At 8. F Fobaq a9
IEEEEY

(a) 10:00 am

(b) 10:30 am

(c) 11:00 am

(d) 11:30 am

Q23. Two men are standing on opposite ends of a bridge 1200 meter Speci al Offer

long. If they walk towards each other at the rate of 5 m/minute
respectively, in how much time will they meet each other?

3T 29 T 1200 HIeX 9 9 & fAodq B @ &, afe 3 T g &t 8
RSO GRS URRARWAENG RRB NTPC 2019

P arerer o R STAGE-1

(a) 60 minutes

(b) 120 minutes 25 Previous Year Papers
(c) 85 minutes

(d) 90 minutes Bilingual | Validity : 2 Months
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Q24. If 0 be an acute angle and 7 sin® 0 + 3 cos? 0 = 4, then the value of tan 0 is
aﬁ\(/a@?{rraﬁwgﬁr7 sin” 0 + 3 cos? 0 = 4, qT tan 0 FT T &

(@) v3

(b) 1/V3

(c)1

(d)o

Q25. The value of sin® 1° + sin* 5° + sin? 9° +. . ... +sin® 89° is
sin® 1° + sin® 5° + sin® 9° + ... .. + sin* 89° T Y7 g

(a) 11%

(b) 11V2

(c)11

(d) 11/+/2

Q26. sin? 5° + sin® 10° + sin® 15° +..... sin” 85° + sin? 90° is equal to
sin? 5° + sin® 10° + sin® 15° +..... sin? 85° + sin? 90° T &:

(a) 7%

(b) 8%

(9

(d) 9%

Q27.1If sin 17° = x/y, then the value of (sec 17° - sin 73°) is
T2 sin 17° = x/y, @ (sec 17° - sin 73°) ﬁw‘l’ﬁ?ﬂ'%:

(@) y*/(xv(y*x*))

(b) x*/(yV(y*x*))

(€) X*/(yV(x*-y*)

(d) y*/ (Y (x*-y%)

Q28. Harveen can do a piece of work in 18 days. He worked for 12 days and left. Deepak finished
the remaining work in 8 days. In how many days can Deepak alone complete the work?

A1 18 31 ® U F1d F I < a7 §. a8 12 A1 % forg 1 #izar § i< 1 & g a7 8. €70 a9 w1

& 8 faAT # g7 FXIAT 8. 1Y% STohed foharet foA T § T bl I L GhalT 57
(a) 21
(b) 22
(c) 23
(d) 24

Q29. A and B can complete a work in 15 days. A is 50% less efficient than B. How long would A

take to complete the work alone?

A ST B 15 AT # T F1F i T FGHd 5. A, B TATTH 50% FH FAA . Aohed 1 1 T HA | A T

Y AM?

(a) 20 days

(b) 22 days

(c) 24 days

(d) None of these

Q30. If 35 persons can do a piece of work in 6 days, in how many days can 15 persons do it?

7fa 35 1T 6 faAl # T 1 T T FT T &, AT 15 AfE g i & s asha 32
(a) 12
(b) 14
(c)16
(d) 18
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